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FROAEZHBGOE RS : .
What are the two speakers talking about?
What is the talk/dialogue about?
What'’s the passage mainly about?
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What’s the topic of the passage?

2. REVEARE L, 384215 BB & (understand the detailed factual information)

FORF VTG WS S0 B M B LR SRR A B AR ] b A
Bk B R B A SRR IR 2 BT B 64 £ 8 A e 2 A b B, L T iB
FE R TELUT | FOARORT e i) SR DR OCR R 2 M ER A . AR ELIR % B B TR
A2, G2 BT A R SR S B A T T

FROALAEwWP OO BE :

When should Susan go to meet Professor Brown?
What is wrong with the girl?

What is the woman’s house number?

On which day will the Japanese Music Concert be held?
How many things did the salesman show to the buyer?
What’s the man’s job now?

How does the man pay for the tickets?

How much does the man want to change?

Where is the woman going?

What has John promised to do?

Whom would they turn to for help?

Which of the following is right / true?

Why are many roads closed in the north?

Why did the speaker get a parking ticket?

3. EMRIFL S, #I8 AW 5% (infer the background and speakers’ relationship)

R A PR A TS RO Z ROC R . I TR XS B 1 &
A B 7S 5 S UG F 2 6] B 56 R BB AR T , to R B T 28 A 0 T e R A A | AR A B
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FROAEG FGREH : _

Where did the conversation most probably take place?
Where are the two speakers talking?

Where does this conversation take place?

Who do you think Tom probably is?

What’s the probable relationship between the two speakers?
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Who is the speaker?

4 FiLBWINZE MV S S E (grasp the speakers’ views, intention, and attitude)
BORFAEANLGEIM T RN A E KR, M i b EERY  HAS
S Fi BE AT USRI LSS B, O LR E S A A () R . R
WAL TR 225 e A 3 3 AL 3 b ) OB

FROHGZEDHEOEE :

What does the woman mean?

What does the speaker want to tell us?

What can we know about the man?

What can we learn from the speakers / conversation / story?

What is the most probable result of the conversation?

Which of the following words best describes the day the speaker had?
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Part A Short Conversations
Directions: In Part A, you will hear fifty short conversations between two speakers. At .
the end of each conversation, a question will be asked about what was said. The
conversation and the question will be spoken only once. After you hear a conversation
and the question about it, read the four possible answers in your paper, and decide
which one is the best answer to the question you have heard.

1. A. 7:45. B 71 oy C. 6.45. D. 7.00.
2. A. June. B. July. C. August. D. September.
3. A. Because of the style. B. Because of the colour.
C. Because of the size. D. Because of the material.
4. A. To visit a friend. B. To have an interview.
C. To meet his secretary. D. To post a letter.
5. A. He doesn’t like it. B. He thinks it’s interesting.
C. He likes all kinds of TV programs. D. He thinks it is just so-so.
6. A. The difficult lessons. B. The coming examination.
C. The classes she missed. D. Her health.
7. A. $580. B. $880. €.~ $760° D. $743.
8. A. The guest has to pay for the fish.
B. The bill for the fish will be included in the room rental.
C. The woman will draw back the fish to the kitchen.
D. The woman will change the fish.
9. A. In a bookstore. B. In the woman’s study.
C. In a library. D. In a science lab.
10. A. Checking the time. B. Making an appointment.
C. Going to class. D. Deciding what to do.
11. A. They are having a party with some friends.
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They are commenting on pop music.

. They are discussing some serious problems.
. They are recording some songs.

12:

. Five years old. B. Four years old.
. Six years old. D. It is new.
13. A. To buy a bunch of flowers. B. To clean their car.
To pick up the woman’s parents. =~ D. To drive to meet the man’s parents.
14. A. The traffic. B. The weather.
Their health. D. Their students.
15. A. 1 hours. B. 1 hour and 15 minutes.
2 hours. D. 1 hour and 35 minutes.

16. A. She paid $40 for the coat.

It was a gift from her husband.

. She bought the coat on her birthday.

. Her friend gave it to her as a birthday present.

17. A. She doesn’t like it. B. It’s too expensive.

The sweater doesn’t fit her. D. She doesn’t like the colour.
18. A. In a long queue. B. In a post office.

In a teachers’ office. D. At a counter for stamps.
19. $5. B: 1§32 C. $8. Dii1$12.
20. A. The crowed is very noisy.

The lights are too dim.
. The theatre is too big for the show.
. The room is too small for the audience.

COWPPPPOPOPUOEPPOPOAPTIOBPOPOPOPOPUAOD

21. A. 1434 King Street. B. 1344 Queen Street.

1343 King Street. D. 1434 Queen Street.
22. By the window. B. On the steps.

In a post office. D. In the street.
23. $24. B. $12. C: 86. D. $26.
24. A. April 1th. B. April 2nd. C. April 3rd. D. April 4th.
25. A. By car. B. By train. C. By airplane. D. By sea.
26. A. She feels too tired to read.

They are too difficult and complex.

They are too heavy and she can’t carry them.

. They are too many and she can’t read them all.
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27.

28.

29.

30.
31.
32.
33.

34.
3s:

36.

37,

38.

39,

40.

OPOPTOFPOPTIOEPORPRPOPOPPPUOEPOPTOD D

41.
42. A.

>

. It’s a good watchdog.

. Money is important to her, but position isn’t.

Money is nothing but position is important.
Both money and position are important to her.

. Money and position means nothing to her. .
. They were very tired. B. They were badly dressed.

They were terrified. D. Their clothes were in rags.
She doesn’t understand it, either.

She is sure to tell the man how it was calculated.

She thinks she may know how it was calculated.

She wants to look at the man.
3 years. B. 4 years.
$30. B. $24.

To organize a party.

5 years. D. 6 years.
$22.5. D. $20.
To attend a party.

To have his hair cut. . To come home earlier.
She’s never had to wait before. She doesn’t have any time.

. It doesn’t bother her to wait.
15 minutes. D. 5 minutes.
It’s a good sheepdog.

. It seldom barks.

She hasn’t seen anyone at all.
10 minutes. B. 20 minutes.

CEO0U0U®RO®OO

It’s a nice pet.

. Mary really needs a full-time job.

Mary already has a job working for the school.
Mary should think about becoming a teacher.

. Mary should spend her time studying.
. It’s making a lot of noise. B. It broke a glass.

It’s lying on the back steps. D. It’s playing in the garage.

. She knows nothing about cooking.

She has sandwiches for her lunch.
She doesn’t have any drink with lunch.

. She has a part-time job at a snack bar.

B=BH BEWHEEHINE

. It was not open on Tuesdays. B. It is very popular.
It serves Mexican food as well. D. It has been there for a long time.

. The phone is out of order. B. The service must be paid for.
The number has been changed. D. The system to longer exists.

. 5:18 train. B. 8:20 train. C. 2:30 train. D. 5.38 train.
$10. B.c $204 C. $30. D. $40.
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43. A
C.

4. A
e
45. A.
46. A.
47. A.
48. A.
49. A.
o

50. A.
Part B

. In a bakery. B. In a restaurant.
At a grocery. D. In a bank.

; They are rich. 3 B. They take a holiday every year.
They will buy a big house now. D. They vs}on’t'buy a big house now.
5:00. B. 5:10. C. 5:20. D. 5:30.

Go to Pairs. B. Go to London. C. Stay home. D. Visit her cousin.
Age. B. Good looks. C::Experience. D. Degrees.

An elevator. B. ATV. C. Acar. D. A telephone.
Lack of sleep. B. Too much aspirin.

Too much sunlight. D. The hat.

A book. B. A case. C.Atie D. A watch.

BN WD ERER (LR - 2EE)

Passages

Directions: In Part B, you will hear twenty short passages, and you will be asked three

questions on each of the passages. The passages will be read twice but the questions will

be spoken only once. When you hear a question, read the four possible answers in your

paper and decide which one would be the best answer to the question you have heard.

L)

Questions 1 through 3 are based on the following passage.

1. A.

>PU0RPUTOW

Edison invented electric lights.
Edison established the first central electric power station.
Edison’s engineer discovered electrons. '

. Edison brought the first camera to the world.
. It is electricity.

It is an electron.
It is a branch of science.

. It is something that produces computers.
. In 1847. B. In 1848. C. In-1831. D. In 1835.

Questions 4 through 6 are based on the following passage.

4. A.
C.

k. ()

Over 8.5 million. B. About 1 million.
Fewer than 15 million. D. Around 7.5 million.
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5. A. Eager. B. Good-mannered.

C. Charming. D. Experienced.
6. A. It is an ancient country. B. It is a tourist country.
C. It is an interesting country. D. It is an inexpensive éountry.
(=)

Questions 7 through 9 are based on the following passage.

7. A.
8. A.

orUOw

10. B. 11. €113 D.24;
The accident was a result of drunken driving.

Poor weather conditions led to the accident.

A moving truck hit a stopped school bus.

. The accident was a result of the driver’s carelessness.
. Shortly before 3 p.m.

B. Shortly after 3 p. m.

Shortly before 5 p. m. D. Shortly after 5 p. m.

Questions 10 through 12 are based on the following passage.

10.

11.
12.

>PoU0wp

. Because of North Korean’s nuclear programme.

Because of the nuclear war in North Korea.
Because American Defense found one nuclear weapon in North Korea.

. Because American Defense found two unclear weapons in North Korea.

. 24 years. B. 14 years. C. 197yearx: D. 42 years.
24. B2 G2l Dial3
(=)

Questions 13 through 15 are based on the following passage.

13. A.

14.

15.

SOFPOPUOW

Because there were not any modern machines.
Because there was no modern medicine.
Because there were not many people.

. Both A and B.
. Water pollution. B. Pollution.
Noise pollution. D. Dirt.

. A few years ago, there was no smog at all.

Today people don’t have to talk to each other in a loud voice.
We can drink water from the polluted rivers and lakes.

. People are making rules in order to fight pollution.
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